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Level 3 Biology, 2015

91605  Demonstrate understanding of evolutionary 

processes leading to speciation

2.00 p.m. Monday 23 November 2015 

Credits: Four

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of 
evolutionary processes leading to 
speciation.

Demonstrate in-depth understanding 
of evolutionary processes leading to 
speciation.

Demonstrate comprehensive 
understanding of evolutionary processes 
leading to speciation.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet and 
clearly number the question.

Check that this booklet has pages 2 – 12 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Achievement

10

No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.





















Achievement 

exemplar for 

91603 2015  

Total score  10  

Q Grade score  Annotation  

1  A4  

This response provides consistent evidence towards 
Achievement. The candidate demonstrates the ability to identify 

and define both forms of movement, and describes an adaptive 

advantage of each behaviour. If the candidate had added quality 

explanations of each behaviour, or fully explained the adaptive 
advantage of either, they may have gained an M5 or better.  

2  A3  

The candidate provides enough evidence in this response for A3, 

because they are able to describe one of the behaviours, although 

in a limited way. They also provide evidence of a cost and benefit 
of the behaviours. Had the candidate also mentioned that the 

benefits must outweigh the costs, they would most likely have 

gained M5. 

3  A3  

The candidate provides enough evidence for A3 in this response 

as they have a difference between the forests and two 
relationships. They do not reach A4 as the definitions are 

insufficient. Fore xample note that although the candidate 

recognises interspecific competition is between two species, they 
don’t indicate an understanding of competition being for 

limited/the same resources.  

 

 


